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Question 1
Question Type: MultipleChoice

The AR router provides SIP signaling tracking function, which needs to be checked in the diagnostic view. () Correct or Wrong

Options: 
A- Correct

B- Wrong

Answer: 
A

Question 2
Question Type: MultipleChoice

In the U1900+SC solution, if you need to restrict the video conferencing system's permission to call out PSTN phones through U1900,

which statement is correct () (multiple choice)



Options: 
A- By default, when the video conference system uses the U1900 system to make voice calls, it has the right to call intra-

office/local/domestic long-distance calls

B- By default, when the video conference system uses the U1900 system to make a voice call, Permission to make intra-office/local calls

C- If the video conferencing system needs the permission to call international long distance through the U1900 system, it can be

modified by modifying the SIP trunk related trunkgroup calling permission between U1900 and SC.

D- If the video conference system needs the permission to call international long distance through the U1900 system, it can be modified

in U1900 by modifying the access code prefix permission of the video conference system

Answer: 
B, C

Question 3
Question Type: MultipleChoice

The standard auxiliary stream token management protocol recommended by the SIP protocol is () (single choice)



Options: 
A- H.239

B- INFO

C- BFCP

D- H.245

Answer: 
C

Question 4
Question Type: MultipleChoice

Which of the following information is contained in the RTP packet () (multiple choice)

Options: 
A- Type of transmission media



B- Number of lost packets

C- serial number

D- Timestamp

Answer: 
A, C, D

Question 5
Question Type: MultipleChoice

In the videoconferencing system, the MCU and T1 and T2 are deployed on the private network, and T3 is deployed on the public

network. The MCU is used for wall-mounted networking. The following statement is wrong () (single choice)

Options: 
A- The GE0 port of the MCU is registered with GK, and the GE1 port is only used for IP address call

B- Connect T2 to the network on the same network segment as the GE0 port of the MCU

C- Connect T3 to the network on the same network segment as the GE1 port of the MCU



D- The MCU's GE0 port and GE1 port can be connected to the same network segment

Answer: 
D

Question 6
Question Type: MultipleChoice

RSE6500 supports synchronous recording of three screens and telepresence for synchronous playback. The correct description of its

implementation principle is () (single choice)

Options: 
A- The three-screen telepresence synthesizes a three-screen by itself, and then sends RSE to record

B- Three-screen telepresence directly sends three streams to RSE for recording

C- With the help of MCU, the three-screen telepresence is combined into a three-screen, and then sent to RSE for recording

D- With the help of an analog video synthesizer, the three-screen telepresence is combined into a three-screen, and then sent to RSE

for recording



Answer: 
C
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